Bell 2004 - © Jane Eborall
Amended 2018

Click here for larger picture
This pattern can be worked from start to finish without having to tie and cut if a split chain is
used. Finished size in No. 20 approximately 2".
Skills Required: A knowledge of Split Rings, Self Closing Mock Ring and Split Chain (optional)

are needed.

Abbreviations

R ring Ch chain SR split ring vsp very small picot

SCMR self closing mock ring Shl  Shuttle 1 cl close

Sh2  shuttle 2 + B add bead to picot before joining

T&C tieandcut SS switch shuttles MB move bead along thread
DNRW do not reverse work RoCh ring on chain

Note: for those who prefer front side/back side tatting the text in italics and red indicates where
the worker needs to use the second half of the ds first.

Materials - Size 20 thread, two shuttles, size 11 seed beads plus one large bead (size doesn’t
matter). Add 4 small, 1 large, 4 small beads to ball thread and wind 22 yards onto shuttle 1.
Pull off a further 3 yards and wind onto shuttle 2. Before starting make sure all the beads are
wound on shuttle 2. Another 9 beads are needed to add to picots.

Centre

Rl1: 4-2-4CIRW

*Ch: 6 vsp 6 RW

R2: 4 + B (lastpoflastR) 2 - 4 CI RW

Repeat from * 3 more times joining last p of R5 to R1 with B
Split chain of 6 / 6 SS

OR

Ch: 6vsp6T&Cto base R1

Outer Round

SR6: 8/ 8 RW

OR

R6: 8 + (vsp Ch on centre) 8 Cl RW
Ch: vsp 12 RW SS

SCMR7: 4 SS
R: 4 + (base next R on centre) 4 Cl SS
SCMR7: 4 CI RW SS

Ch: MB 10 RW

R8: 2 + (vsp next Ch on centre) 2 CI RW
Ch: MB8RW

R9: 3 + (base next R on centre) 3 C| RW
Ch: MB 10 vsp 2 SS DNRW

Move bead to back of hand

RoCh10: 2 + (vsp on last Ch) 4 B 6 C/ SS DNRW
Ch: 2RW

SR11:6/ 6 Cl

SR12: 3 + (vsp next Ch on centre) 3/ 6 CI| RW
Ch: 4 RW
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R13: 2 + (base next R on centre) 2 CI| RW SS
Move bead to back of hand
R14: 3 B 3 CI SS DNRW
Ch: 4 RW
SR15:3 + (vsp next Ch on centre) 3/ 6 Cl
SR16:6 / 6 CI RW
Ch: 2SS
Move bead to back of hand
RoCh17: 6 B4 vsp 2 C| SS DNRW
Ch: 2 + (vsp RoCh17) 10 RW
R18: 3 + (base of next R centre) 3 C| RW
Ch: MB 8 RW
R19: 2 + (vsp next Ch on centre) 2 CI RW
Ch: MB 10 RW SS
SCMR20: 4 SS
R: 4 + (base next R on centre) 4 CI SS
SCMR20: 4 CI RW SS
Ch: MB 12 Lj (to vsp at top of SR6)

Tie ends to form a loop and cut. For further help please email me.
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